4.1

1cm 0.01cm
8.9g/cm®
V=2
3
M= pAV = 4par’Ar =~1.12(
y:3\/x_2 x=0
x=0 Ay =3AX*  AX y=%¥x2 x=0
Xx#0
Ay:W—W—(m+W)(M—W)

X+ AX +\/—
a0+ e el f

y=%x2 x=0

AX + 0(AX),
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4.2

1 f'(X,)

lim f(x, —AX)— f(X,)
Ax—0 AX

i 0= 10)

X—>Xp X — XO

lim f(x, +h)—f(x,—h)

h—0 h

(1) lim o —Ax) - T(%) __ lim f (X, + (=A%) = f (%) —_f(x,)
Ax—0 AX Ax—0 (_ AX)

i 100 100) o FO = (XD = F) _

X—>Xg X— )(0 X=%g—0 X — Xo

lim f (X, +h)—f(x,-h)

150
i f(x0+hE— f(XO)_LiDQ f (X, —hr)]— f(%,) o)
2 y=2x2+3x -1
(-1-2)
(-2,1)
(a,b)

Ay 2(x+ AX)% +3(x+ AX) —1- (2x* +3x-1)

(1) =4X+3+ 2AX
AX AX
Y — fim AY
f (X)_AI)I(TO A 4x+3
2  fD=-1 y =1 [x—(-D]+(-2) = —x-3
(<2) = — L o XL
3 f'(-2)=-5 y _5[X (=2)]+1 5
(4) y
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X f'(x) =0 (a,b)

f(X)  (—o0,+00)

f(L+sinx)—3f(1-sinx)=8x+a(x)

a(X) XxX—0 X y=1f(x) @fQ@)
F(x)= f(L+sinx)—3f(L-sinx) ImF()=-2f@®)=0  f@©)=0
"m@:nmg“_a(x):g
x—0 X x—0 X
Iimw: "m[f(1+3|r1x)— f(2) sin x}_?’“m{f(l—smx)— f(D) sin X}ZM O
x>0 X X0 sin x X x—0 sin x X
f'@Q)=2 y=1(x) &f@) y=2(x-1)
4
425
2 2
X—+y—:1 a>b>0
a’ b? B4 2.5
(£¢,0),c =+va? —b? (%01 Yo)
Yo =0 Yo #0
bZX0 Yo
tané = - (X0 Yo) (-c,0) tano, =
a’y, X, +C
_ tang, —tand % = a2 _p?
1+tang, tan@
XZ yZ
a_(;+b_g:1
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2
Yo bX%
X +C a’y, _ a'y+b’xg+oxh®  a’h®+oxb®  b*

k: = = =
1 Yo b, (@%-b)xy, +acy, Xy, +a‘cy, oy,
X, +C a’y,
Yo
X0, c,0 tang, =
(X0, ¥o) (c,0) S
D% Yo
tand—tang,  a’y, X -c _ oxb’-afy;-b'x; _ cxb®-ah® _b® _
l+tandtand, , Y, b, (@*-b)xy, —acy, Xy, —a’cy, ¢y,
X, —C azyo
5 Xy = a2
2a?
(X01y0) XoYo = a’
. a’_y
=t
0 0
Y=Y, =_%(X_Xo)
0
0.2y,)  (2%,,0)
1 2
S =E(2yo)(zxo) =2X,Y, =22
6
y =|sinx| y = +/1—cOs X
y = e y =|In(x+1)|.
1 y = f(x)=|sinx| x=0
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|sin Ax|—|sin0] sin AX

f(0) = lim = fim 22X
AX—)0+ AX Ax»0+ AX
£(0)= |S|nAx| |sin0|= lim —sinsz_1
0— AX Ax—0- AX
x=0 y /4
x=kz (keZ) f'(kzr)=-1 f/(kz)=1
2 y=f(x)=+1-cosx —,/Zsm = sm 1
x=2kz (keZ) f_'(2k7r):—g f+'(2k7r):£
3 y=f(x)=e™ x=0
—AX AX
FO=tm&—to1 f=tim &t
AXx—0+  AX Ax—0-  AX
4 y=f(x)=|In(x+1) Xx=0
£(0) = lim |In(Ax+1)|—In1 lim In(Ax+1)=l
Ax—0+ AX Ax—>0+ AX
£(0) = |In(Ax+1)|—In1 lim —In(Ax+1) _ 1
0— AX Ax—0- AX
x=0
_JIx[**sint,(a>0) x=0, BRSE x>0,
= 0, X =0; Y=1 ax+b, x<o0
xex, x>0, ~
y = : . y = ex, X=#0,
ax?, x<0; 0, X = 0.
A | AX[® sin = 1
1 im2Y o fim— X Iim(l AXJ? sgn(Ax)sin—j=0
MX—0 AX  Ax—0 AX Ax—0 X
x=0
2 x=0 X =0 f(0+) = f(0) =
2_ —
b=0 b=0 f@=1m> 0 @)= tim®*=0_
Ax—=0+  AX Ax—0- AX
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3 f;(O)zAlxmAxeAA;_O:l f'(0)=A|Xi£g_aA>‘Az 0 _0xf(0)
Xx=0
4 a>0 x=0 a<o0
fim 3= tim £ =0 a<0 =0
8 f(x) x=0 ()] x=0
£(0)#0 £(0)>0 x=0 f(x)>0
(9= f (%) )] x=0
£(0)=0
|f(X)I—If(0)|:|f(X)—f(0)|san
x—0 | x-0 |
x=0 [f(x)]  x=0
- ') | | £°(0) | [f(x)] x=0
£(0)=0
9 f(x) [ab] f(a)=f(b)=0 f/(@)-f/(b)>0 f(x)
(a, b)
f/@  f!(b)
£ @) = lim = T@ i, 100 x (a<x<b) f(x)>0
o A onx_a
f;(b):JLT%k:(m=JLT%’2>o X, (%, < X, <b)
f(%,) <0 f0 X%,
10 f(x (a,b)
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im 109 i 769
i 09— i 9=
1 F(X) = —+cos% a=0  lim £(x)=+o
(0= (-L+sinD)  lim F/(x)=o
» L
2 f(x)=vx a=0 I|mf(x)—X|Lr(r)12\/,
lim £ (x) =00
11 £ (%) £(0)=0 f(x) x=0
x=0 9() () =xg(9)
£/(0) = 9(0)
(9=xg0  lim O o img(x = g0
x=0 £/(0) = 9(0)
sl 0 o xgen
£'(0), x=0
img()=tim "Xt 10)-g0) 900 x-0
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